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Full Marks : 80

Time : 3 hours

The figures in the margin indicate full marks

for the questions

Answer either in English or in Assamese

1. Answer the following as directed (any ten) :

1x10=10

woe TR RorrEm e ot (R o weht)

(a) Durkheim’s concept of organic solidarity
is found in

ffed CwRe KRR HIRACHT (TR T
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®)

(@
(iii)
()

tribal society/Wl’@ﬂ AAES
agricultural society /FRfSfes TeTS
traditional society/*F=*{HIT® &S

modern society /SRS TS
( Choose the correct answer )

( w7 Taco! MR Tferean )
( Turn Over )
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(2)

(b) Which of the following is not the feature
of urban community?

S CPICH! oI e Ry e 9
() Face-to-face relationship
TRER =0
(i) Complex life
wibeT Gl
(iii) Materialistic
T

(iv) Glamour in life

SiepicRenc)

{ Choose the correct answer )

(o= TEIH! AR Bforear )

() Who developed the concept of ‘urbanism
as a way of life’?

QA NI qRacsT G’ Rewet
e fifRe 2
(i) Louis Wirth
R R
(i) Fisher
=z
(iij) Lewis Coser
R IR
(iv) None of them
G GE8 Y

( Choose the correct answer )

(&% Teach A1k Shrea )

( Continued )



(3)

(d) Who has given the concept of urban
fringe? : '

9T AT 4RMBT @I frem 2
(i) M. N. Srinivas
q¥. @7 Bifvam
(ii) K. M. Kapadia
. q¥. e
(iii) S. C. Dube
qz, 5. 93
(iv) Louis Wirth
72 Ry

( Choose the correct answer )

( ©% Seahr AR Sforean )

() Who introduced the concept of
Gesellschaft?

(OICHATOIB] IREIICHT (PG 2o et 2
(i) Georg Simmel
e focte
(ij) Durkheim
AL
(i) Tonnies
i
(iv) Weber
QR
( Choose the correct answer )

( w7 Tascht MR Sferean )
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() Industrialization weakens
e €& I

(i) role of religious life
1T Gia R

(ii) role of family life
AR Qg Pt

(iii) caste system

HIfS IR

(iv) All of the above
@] AR

( Choose the correct answer )

( w7 Teach! Il Tfeveat )

(g9 The term ‘community’ denotes almost
uniformly and permanently shared lives
of people over a definite range.

( Write True or False )

TR B 6 R e W o
A S FACICT Slol-3eq] 1 Sl & |

(37t = firg foran )
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(h) Which school played the most prominent
part in the development of Urban

Sociology?
T TEeE  Rere @Wea Re
wibiRere GFged PR A TR ?
(i) Frankfurt School
F T
(ii) Chicago School
fosresn =t
(iij) Marxist School
TR <
(iv) Functional School
IR A
( Choose the correct answer )
( w7 Tead! AR Sferean )
() The Concentric Zone model was created
by
i e S Tl R o |

(i) Ernest Burgess

(ij Robert E. Park

G %, A
(i) Georg Simmel
ot foce
(iv) Louis R. Wirth
o2 9. R
( Choose the correct answer )
( wm T AR Sfrer )
( Turn Over )
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() Which of the following is responsible for
the growth of cities in the 17th and 18th

centuries?
e SIF BT XSS 5ZI KPP I TR
CRFICO! WIS 7
(i) French Revolution
w1 e
(i) Industrial Revolution
i e
(iii) The Age of Enlightenment
TEPRS Al
(iv) The Reformation
R’WI Q9
( Choose the correct answer )

( w= T30 AR Tferear )

(k) Which is an important pull factor of
migration from rural to urban areas?

AL R AL 2 9T @FgeYf
B IR CFINCHI 2
(i Job opportunities
BRI G
(ii) Banking facilities
Q& R
(i) Recreation facility
ACREAT G
(iv) Educational facilities
e Tt

( Choose the correct answer )

( o Teacht af Sferear )
22A/990 ( Continued )



(7))

() Specialization in roles in urban society

encourages

o e e RrmeeR beide =

(i) similar interest :
G Q]9 HIAR

(i homogeneity
ISl

(iii) diversity of life patterns

Geq =1f2q (b

(iv) similar philosophy of life
TR G 43

( Choose the correct answer )

(o Teech! MR Sfee )

(m) Who is the author of the book, The City?
The City <R g3 (e foiffEet 2
(i) Max Weber
¥ @@1®

(i) Georg Simmel

e foce

(iij) Talcott Parsons
Bo"S #I1o

(iv) Karl Marx
e sl

( Choose the correct answer )

(&% Tewch TR Tfered )
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(n) Who among the following is associated
with ecological approach on urban
growth?

R @W AR [{ere eume AR
yiEesaNa e TS 2
(i) Georg Simmel

wret fHeet

(i) Earnest W. Burgess

B TG, AR
i) Louis R. Wirth
72 o, Y
(iv) Robert E. Park
5 2. 6

( Choose the correct answer )

( wm Teach! qify Tferear )

(o) Herbert Spencer wrote the book,
Metropolis and Mental Life.

( Write True or False )

Metropolis and Mental Life 999 &gy« 2-MH
cepicd feifRfes |

(3151 @ fog fori )
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2. Answer any five of the following questions :

2x5=10
@ oINS R e SAbr Tee o
(a) Write two features of urban community.

i1 IRemRE 1o e forn o

(p) What do you mean by urban crime?

ol Sy e 1 g

(c) Write two factors of urban migration.
. TR e o1 R ford |
(d) Who is the father of Urban Sociology and
in which year did it started?
T e e (FF SF % (TH 576 SIS
e 2
(e) Write two differences between urban and

rural society.
IR I AT TS TerS o1~y B |
() Write two causes of juvenile delinquency
in India.
SReS RO TR 161 1T forr |

(g) Define urban culture.
o Al e fa |

(h) Write two suggestioné’fc'or the development
of slums in India.

o AR R T 1 e B |



(10 )

3. Answer any four of the following questions :
5x4=20
©d 2RI [ e v Tey Ry
(@) “Urban Sociology is the study of social

relationship.” Explain.

T TESG (R TR oo e |7
0 40 |

(b) What is the relationship between rapid
urbanization and formation of slums in
India?

TRTT TG DRI WF I 197 e ook
2
(c) Discuss poverty as an urban problem.

RSP I T Riet wgesay 391 |

(d) Discuss the importance of studying
Urban Sociology in India.

SRES R ANTOGE ST QFG ST
¥q

(e) What are the causes of housing problems
in India?

SROS HRPT AP FIREIN 59
() “Urbanism is a way of life.” Explain,
T C2CR T @ oA 1”7 ey 7wy

(9) Write a short note on juvenile
delinquency. ,

R wrernes e @1 5 GGt foya |
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4. Answer any four of the following questions :

oL

(@)

(b)

()

(@

(e)

22A/990

10x4=40
AR R @ wiReR Tes o

Write an essay on Burgess’ contributions
to Urban Sociology.

TR FTOGee TS S SS9
o ol |

Explicate the problems of urban India.
5 SRS TPIPTR Srreaet f 3wmig Bt |

Define Urban Sociology. Discuss its
nature, scope and origin. 2+3+5=10

FR TEOEE FE FBr | WR a4l R
oI ool R sticemsn 347 |

What do you mean by migration?
Discuss how migration is responsible for
urban growth. 3+7=10
oG A 27 99 RIPI AR oW (FCTCI
TG, SICEnl 4 |

Explain socio-economic causes of poverty
and suggest remedies for eradicating

urban poverty. 5+5=10

TRged Y-ANRE FERIR I F S
o et ffer e aiferea o i |

( Turn Over )



(12)

() What is urban ecology? Explain some of

the problems associated with it. 3+7=10
T iRefe e e B2 W] it
FoifFS g TEIPTR I 741 |

{g) Discuss the causes and effects of juvenile
delinquency. How we can prevent it?

5+5=10
RO RIS IR F AR Sl I |
T S @ AR IRI AT 2

(h) What do you mean by crime? Critically
explain the role of urbanization in
increasing crime in urban areas. 2+8=10

wey 3P & JE? DREEETS FoRY e
TR ST TICACEAFSIR I 547 |

(i) Write Max Weber’s perspective on Urban
Sociology.

TR TSTOG 8IS (TS (T qEedh o

0) %at do you mean by political economy?
Write down its characteristics and its

importance in studying urban society.

2+4+4=10
FreAfoe AT W 59 R Romgam B
Waﬁmmmﬁwﬁsm?
* %k k.
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